Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 4 - Monifieth and Sidlaw

6,685

4

1,338

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Craig FOTHERINGHAM	Scottish Conservative and Unionist	2,901
Sheila HANDS	Scottish National Party (SNP)	1,727
Ben LAWRIE	Scottish Liberal Democrats	794
Ray STRACHAN	Scottish Labour Party	643
Beth WHITESIDE	Scottish National Party (SNP)	620
	Total	6,685

Candidate Craig FOTHERINGHAM Elected with 2,901 votes, being in excess of the quota of 1,338 Candidate Sheila HANDS Elected with 1,727 votes, being in excess of the quota of 1,338

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Craig FOTHERINGHAM

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Craig FOTHERINGHAM	0	0.00000	0.00000
Transfer to Sheila HANDS	0	0.00000	0.00000
Transfer to Ben LAWRIE	1,267	0.53877	682.62159
Transfer to Ray STRACHAN	408	0.53877	219.81816
Transfer to Beth WHITESIDE	74	0.53877	39.86898
Value of non-transferable ballot papers			620.69127
	Total		1.563.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Sheila HANDS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Craig FOTHERINGHAM	0	0.00000	0.00000
Transfer to Sheila HANDS	0	0.00000	0.00000
Transfer to Ben LAWRIE	0	0.00000	0.00000
Transfer to Ray STRACHAN	69	0.22524	15.54156
Transfer to Beth WHITESIDE	1,532	0.22524	345.06768
Value of non-transferable ballot papers			28.39076
	Total		389.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Ben LAWRIE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Craig FOTHERINGHAM	0	0.00000	0.00000
Transfer to Sheila HANDS	0	0.00000	0.00000
Transfer to Ben LAWRIE	0	0.00000	0.00000
Transfer to Ray STRACHAN	703	0.05057	35.55071
Transfer to Ray STRACHAN	368	0.09387	34.54416
Transfer to Beth WHITESIDE	56	0.05057	2.83192
Transfer to Beth WHITESIDE	145	0.09387	13.61115
Value of non-transferable ballot papers			52.08365
	Total		138.62159

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Ray STRACHAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Craig FOTHERINGHAM	0	0.00000	0.00000
Transfer to Sheila HANDS	0	0.00000	0.00000
Transfer to Ben LAWRIE	0	0.00000	0.00000
Transfer to Beth WHITESIDE	212	0.05057	10.72084
Transfer to Beth WHITESIDE	106	0.09387	9.95022
Transfer to Beth WHITESIDE	35	0.22524	7.88340
Transfer to Beth WHITESIDE	71	0.53877	38.25267
Transfer to Beth WHITESIDE	166	1.00000	166.00000
Value of non-transferable ballot papers			715.64746
	Total		948.45459